
Horizontal multiplication

Math in English

Multiply the following numbers

10 303 =× 10 7 =× 2 4 =×

6 5 =× 4 5 =× 2 6 =×

6 2 =× 7 10 =× 9 7 =×

10 4 =× 0 3 =× 10 8 =×

4 6 =× 7 9 =× 2 10 =×

4 9 =× 9 2 =× 2 7 =×

10 6 =× 1 5 =× 1 8 =×



Horizontal multiplication

Math in English

Multiply the following numbers

10 303 =× 10 707 =× 2 84 =×

6 305 =× 4 205 =× 2 126 =×

6 122 =× 7 7010 =× 9 637 =×

10 404 =× 0 03 =× 10 808 =×

4 246 =× 7 639 =× 2 2010 =×

4 369 =× 9 182 =× 2 147 =×

10 606 =× 1 55 =× 1 88 =×


